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0 . COMPANY : 0GX RESOURCES LEASE : EKG Fee WELL XO. 1 [} Pc=3013.2
UNIT SECTION : TOWNSHIP : [l
Lo 11010 B 11010 L/E : 1 G/GMIX 0.614 1 Pt = 508.7
$C02 N2 H2S DATE  :5-23-06 || 0.0
d: 2.441 Fr :0.010763 GH : 6760.1 RANGE : I 0.0
:::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::ii 0 0
H
VOL 1 1247 PSIA 1 : T713.2 RESV.TEMP 184.1 | |Pc2-Pu2= 8551.7
VOL 2 PSIA 2 : - I ERR
VoL 3 PSIA 3 ¢ SHUT-IN PR= 3013.2 I ERR
VOL 4 PSIA 4 : I ERR
|
BCR : 671 | L=
(R : 362 I
[{Pc2/(Pc2-Pw2) =
LINE | RATE1 | [ RATE 2 | | RATE 3 | | RATE 4 | [l
! l | | | . | | I
| "18T | "2ND | CIST | CU2ND | CIST | C2ND | CIST | "N ]
| | l | | | I l [
1 Q0 | 1247 ] 1.247 ) 0.000 | 0.000 | 0.000 | 0.000 | 0.000 | 0000 |
2 W 534 | 534 | 534 | 534 | 534 | 534 | 534 | 534 ||[Pc2/Pc2-Pu2]n =
3 00Ts | 64411 6441 | 6441 | 6441 | 644.1 | 644.1 | 644.1 | 644.1 ||
4 T | 589.1] 589.1] 589 1] 589.1| 589.1 | 589,1] 589.1 ] 589.1]]
PR (est) |  1.06 | ( 00 | { 0,00} [ 0.00 ] [
5 Z{est) | 0.901{ 0.891 | ERR | ERR | ERR | ERR | ERR | ERR |}
6 12 [ 530.5 | B524.7 ERR | ERR | ERR | ERR | ERR | ERR || AQF= @
T GH/TT | 12.743 | 12.883 | ERR | ERR | ERR | ERR | ERR | ERR ||
8 ef | 1.613 | 1.621 | ERR | ERR | ERR | ERR | ERR | ERR ]|
9 l-e-§ | 0.380 | 0.383 | ERR | ERR | ERR | ERR | ERR | ERR ||
0t | M2 M2 0.0 | 0.0 ] 0.0 | 0.0 | 0.0 | 0.0 |
11 Pt2 /1000 508.7 | 508.7 | 0.0 | 0.0 | 0.0 | 0.0 | 0.0 | 0.0 |
12 Fr  ]0.010763 |0.010763 |0.010763 [0.010763 [0.010763 |0.010763 [0.010763 |0.0107631 ||
13 Fe=Fr?2 | 5.700 | 5.648| ERR | ERR | ERR | ERR | ERR | ERR ||
14 Fefm | 7.12 | 7.04 | ERR | ERR | ERR | ERR | ERR | ERR ||
15 L/H(FcQm)} 50.7 ] 49.6 | ERR | ERR | ERR | ERR | ERR | ERR ||
16 Fw  |19.25997 [19.00311 | ERR | ERR | ERR | ERR | ERR | ERR ||
17 P2 | 521.9 | 521.7 ] ERR | ERR | ERR | ERR | ERR | ERR ||
18 Ps2 | 851,3 ) 855.4| ERR | ERR | ERR | ERR | ERR | ERR ||
19 Ps [ 922.7 ] 924.9 | ERR | ERR | ERR | ERR | ERR | ERR ||
20 P [ 817.9 | 819.0 | ERR | ERR | ERR | ERR | ERR | ERR |
21 Pr | 1.22| 1.22| ERR | ERR | ERR | ERR | ERR | ERR ||
2 | L83} 163 1.63 )  1.63 ) 1.63 | 163  1.63 | 1.63 ||
23 Z | 0.891 | 0.891 ] ERR | ERR | ERR | ERR | ERR | ERR ||
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